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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. Interface ge-3/0/0.0 has a default metric of 10 

B. Interface xe-0/0/0.0 can only form a single adjacency 

C. Interface xe-0/0/0.0 has a default metric of 10 

D. Interface ge-1/0/0.0 can only form a single adjacency 

Correct Answer: D 

 

QUESTION 2

To which multicast address is a VRRP advertisement packet sent? 

A. 224.0.0.6 

B. 224.0.0.18 

C. 224.0.0.22 

D. 224.0.0.13 

Correct Answer: B 

Reference: https://tools.ietf.org/html/rfc3768 

 

Latest JN0-362 Dumps | JN0-362 PDF Dumps | JN0-362 Study Guide                                2 / 4

https://www.geekcert.com/jn0-362.html
https://www.geekcert.com/jn0-362.html
https://www.geekcert.com/jn0-362.html


https://www.geekcert.com/jn0-362.html
2024 Latest geekcert JN0-362 PDF and VCE dumps Download

QUESTION 3

Click the Exhibit button. 

Referring to the exhibit, which statement is correct? 

A. Interface xe-0/0/0.0 has a default metric of 10 

B. Interface ge-3/0/0.0 has a default metric of 10 

C. Interface ge-1/0/0.0 can only form a single adjacency 

D. Interface xe-0/0/0.0 can only form a single adjacency 

Correct Answer: B 

 

QUESTION 4

In a stateless IPv6 auto-configuration scenario, what is the host\\'s IPv6 address if the interface\\'s MAC address is
12:34:ab:cd:ef:56? 

A. fe80::1234:abff:fecd:ef56/64 

B. fe8::1234:abff:fecd:ef56/64 

C. fec0::1234:abff:fecd:ef56/64 

D. fe80::1234:abcd:ef56/64 

Correct Answer: D 

 

QUESTION 5
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Click the Exhibit button. 

Referring to the exhibit, why is the route hidden? 

A. The wrong BGP address family is enabled for the BGP session 

B. The route has yet to be verified 

C. The protocol next hop is not reachable 

D. The MPLS LSP to the 192.168.0.2 peer is down 

Correct Answer: C 
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